

TO VALIDATE, GO TO Certificate Number : GI-COO-46058-66338784ec730 Date : May 02, 2024 VERIFY.FTGS.US

	VERIF I.FIG	00.00 Pule	• May 02, 2024		
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading Los Angeles	
43 Corporate Park Irvine CA USA Consignee	Destination Country China		X / / L/ / / XXXX / / / /	Destination Port Xingang Tianjin	
	Export Date 2024-04-15 Import Permit Number N/A		Exporting Carrier N/A		
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,			Bill of Lading / AWB 401410079400		
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	Forwarding Agent N/A	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1560 k Total: 635.04				
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs Kind of Package	(2	Weight	Country of Origin	
Alfalfa Hay	ns, kind of f ackage		20.548 mt	United States	
Marks: HESU9985243 52bales					
Alfalfa Hay			20.775 mt	United States	
Marks: EMCU8305600 52bales					
Alfalfa Hay			21.564 mt	United States	
Marks: EGHU9659100 52bales					
Alfalfa Hay		21.328 mt	United States		
Marks: TLLU8661852 52bales					
Alfalfa Hay Marks: FFAU2113349 52bales			21.455 mt	United States	
			01 182 mt	United States	
Alfalfa Hay Marks: FCIU9276237 52bales			21.183 mt	United States	
Alfalfa Hay			21.591 mt	United States	
Marks: TLLU4057090 52bales			21.001 mt	Office Office	
Name of Authorized Trade Association		 The above-mentioned goods origi applicable in the country(ies) to the The information in this certificate accurate, true and complete. The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chai The Applicant will maintain, and pi truth, accuracy and completeness of In consideration for the GIC's issue 	nate in the country(ies) special use goods. and in any documents provide e GIC and any other person(s) ate is provided to with the kno- nge in such information, or in esent upon request, such doc of this certificate and accomp ance of this Certificate, the Ap onnection with the issuance c made against GIC in connect	sumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-46058-66338784ec730 VERIFY.FTGS.US Date : May 02, 2024

	• May 02, 2024				
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading Los Angeles	
43 Corporate Park Irvine CA USA	Destination Country China		(X / / L/) / / XXX/X / X/ /	Destination Port Xingang Tianjin	
Consignee	Export Date 2024-04-15	Export Date 2024-04-15		Exporting Carrier N/A	
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permit Number N/A			Bill of Lading / AWB 401410079400	
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	Forwarding Agent N/A	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	bales 41 MT				
Description (May include notes on Quantity, Item Number, Marks and Number	ars Kind of Package	(2	Weight	Country of Origin	
Alfalfa Hay	ns, Rind of Fackage	3.)	21.237 mt	United States	
Marks: TXGU5702230 52bales					
Alfalfa Hay Marks: TGBU6609875 52bales			21.827 mt	United States	
Alfalfa Hay Marks: EGHU9676560 52bales		20.602 mt	United States		
Alfalfa Hay Marks: EMCU1566751 52bales		21.02 mt	United States		
Alfalfa Hay Marks: TCKU6067928 52bales			20.811 mt	United States	
Alfalfa Hay Marks: EMCU9945936 52bales			21.355 mt	United States	
Alfalfa Hay Marks: TGBU6615800 52bales			21.364 mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods orig applicable in the country(ies) to th "The information in this certificate accurate, true and complete. The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or che "The Applicant will maintain, and p truth, accuracy and completeness -In consideration for the GIC's issue 	inate in the country(ies) speci ose goods. and in any documents provid se GIC and any other person(s cate is provided to with the kn ange in such information, or in resent upon request, such do of this certificate and accom nance of this Certificate, the A connection with the issuance s made against GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and ho of this certificate and to indemnify GIC in tion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-46058-66338784ec730 **VERIFY.FTGS.US** Date : May 02, 2024

		03.03	• May 02, 2024		
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading Los Angeles	
43 Corporate Park Irvine CA USA	Destination Country China		X / / / // / / / / X X / X / / / / /	Destination Port Xingang Tianjin	
Consignee	Export Date 2024-04-15	Export Date 2024-04-15		Exporting Carrier N/A	
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permit Number N/A			Bill of Lading / AWB 401410079400	
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	Forwarding Agent N/A	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1560 Total: 635.0				
Description (May include notes on Quantity, Item Number, Marks and Numbe	ra Kind of Dookogs		Weight	Country of Origin	
Alfalfa Hay Marks: GAOU6326973 52bales		es.)	21.709 mt	United States	
Alfalfa Hay Marks: TRHU5639605 52bales			20.711 mt	United States	
Alfalfa Hay Marks: TCLU8598345 52bales			21.573 mt	United States	
Alfalfa Hay Marks: EGHU9563395 52bales		21.419 mt	United States		
Alfalfa Hay Marks: EMCU8873024 52bales			22.616 mt	United States	
Alfalfa Hay Marks: MAGU5257824 52bales			20.258 mt	United States	
Alfalfa Hay Marks: TCNU6776790 52bales			20.666 mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods origi applicable in the country(ies) to the -The information in this certificate accurate, true and complete. The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chai -The Applicant will maintain, and pi truth, accuracy and completeness of -In consideration for the GIC's issue 	nate in the country(ies) speci ase goods. and in any documents provide e GIC and any other person(s ate is provided to with the kn- nge in such information, or in esent upon request, such do of this certificate and accomp ance of this Certificate, the A ponnection with the issuance of made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.	

GI-COO-46058-66338784ec730 / May 02, 2024



TO VALIDATE, GO TO Certificate Number : GI-COO-46058-66338784ec730 **VERIFY.FTGS.US** Date : May 02, 2024

	VERIF I.F	03.03 Date	• May 02, 2024		
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading Los Angeles	
43 Corporate Park Irvine CA USA Consignee	Destination Country China		X / / L/ X / X X X / X / /	Destination Port Xingang Tianjin	
	Export Date 2024-04-15 Import Permit Number N/A		Exporting Ca N/A	Exporting Carrier N/A	
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,			Bill of Lading / AWB 401410079400		
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	Forwarding Agent N/A	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1560 Total: 635.0				
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs Kind of Package		Weight	Country of Origin	
Alfalfa Hay Marks: TEMU6380855 52bales		5.)	20.675 mt	United States	
Alfalfa Hay Marks: EITU1759130 52bales			20.738 mt	United States	
Alfalfa Hay Marks: TGBU6207346 52bales		20.575 mt	United States		
Alfalfa Hay Marks: TEMU6061890 52bales			21.5 mt	United States	
Alfalfa Hay Marks: CAAU5337781 52bales			21.482 mt	United States	
Alfalfa Hay Marks: TRHU8371521 52bales			20.738 mt	United States	
Alfalfa Hay Marks: EISU8297019 52bales			20.992 mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods originapplicable in the country(ies) to the The information in this certificate accurate, true and complete. The Applicant undertakes to advision or chain and the certificate of any inaccuracy, omission or chainat. The Applicant will maintain, and prima truth, accuracy and completeness of the certification or the GIC's issues. 	nate in the country(ies) speci se goods. and in any documents provid e GIC and any other person(s ate is provided to with the kn nge in such information, or in esent upon request, such do of this certificate and accom nnce of this Certificate, the A connection with the issuance	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-46058-66338784ec730 VERIFY.FTGS.US Date : May 02, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel			Port of Loading Los Angeles	
Irvine CA USA	Destination Country China Export Date 2024-04-15		X////////	Destination Port Xingang Tianjin Exporting Carrier N/A	
Consignee					
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110	Import Permit Number N/A		E	Bill of Lading / AWB 401410079400	
China	Owner or Age N/A	ent		Forwarding Agent N/A	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1560 t Total: 635.04				
Description (May include notes on Quantity, Item Number, Marks and Numbers, H	Kind of Package	s.)		Weight	Country of Origin
Alfalfa Hay Marks: EGSU9151365 52bales			21.419	mt	United States
Alfalfa Hay			21.31 r	mt	United States
Marks: GAOU6296164 52bales					
Name of Authorized Trade Association		applicable in the country(ies) to the -The information in this certificate accurate, true and complete. -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chan -The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the GIC's issue	inate in the co ose goods. and in any do se GIC and an ate is provide nge in such in resent upon r of this certifit ance of this C connection wis made again:	ountry(ies) specified occuments provided to ny other person(s) to i ded to with the knowle information, or in the request, such docum cate and accompany Certificate, the Applic ith the issuance of th st GIC in connection	above and comply with the rules of origin on the Greater Irvine Chamber ("GIC") is whom the applicant provides this vidge of the Applicant) promptly in writing origin of goods. entation as is necessary to verify the ing documents. ant agrees to release, discharge and hold is certificate and to indemnify GIC in

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCIA	AL INVOICE				Invoice No. Date:	SD-202403029 1/1/01
Shipper/Exporter: Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA			Consignee: INNER MONGOLIA SHEN Station 3E-028, Beixing Lianchuang Cente Hohhot Comprehensive B Huimin District,Hohhot, Inner Mongolia			
Vessel:	EVER FAR			Contract No.:	SDHT-HGLC2024-1	
Voyage No.:	1342-019W			Booking No.:	401410079400	
Shipping Line:	Evergreen			Country of Origin:	USA	
Port of Loading:	LOS ANGELES	CA		Discharge:	TianjinXingang, China	
ETD:	4/11/24	, 0/1		ETA:	5/1/24	
Price Terms:	CIF					
Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
CAAU5337781	A1515260	Alfalfa Supremi	52	21.482	\$435.00	\$9,344.67
EGHU9563395	A1513010	Alfalfa Supremi	52	21.419	\$435.00	\$9,317.26
EGHU9659100	A1515401	Alfalfa Supremi	52	21.564	\$435.00	\$9,380.34
EGHU9676560	A1515306	Alfalfa Supremi	52	20.602	2 \$435.00	\$8,961.87
EGSU9151365	A1513169	Alfalfa Supremi	52	21.419	\$435.00	\$9,317.26
EISU8297019	A1513211	Alfalfa Supremi	52	20.992	\$435.00	\$9,131.52
EITU1759130	A1530204	Alfalfa Supremi	52	20.738	\$ \$435.00	\$9,021.03
EMCU1566751	A1515302	Alfalfa Supremi	52	21.020	\$435.00	\$9,143.70
EMCU8305600	A1515460	Alfalfa Supremi	52	20.775	\$435.00	\$9,037.13
EMCU8873024	A1513116	Alfalfa Supremi	52	22.616	\$435.00	\$9,837.96
EMCU9945936	A1515305	Alfalfa Supremi	52	21.355	\$435.00	\$9,289.43
FCIU9276237	A1515407	Alfalfa Supremi	52	21.183	\$435.00	\$9,214.60
FFAU2113349	A1515405	Alfalfa Supremi	52	21.455	\$435.00	\$9,332.92
GAOU6296164	A1513167	Alfalfa Supremi	52	21.310	\$435.00	\$9,269.85
GAOU6326973	A1515309	Alfalfa Supremi	52	21.709	\$435.00	\$9,443.41
HESU9985243	A1515457	Alfalfa Supremi	52	20.548	\$435.00	\$8,938.38
MAGU5257824	A1513020	Alfalfa Supremi	52	20.258	\$435.00	\$8,812.23
TCKU6067928	A1515301	Alfalfa Supremi	52	20.81	\$435.00	\$9,052.78
TCLU8598345	A1513006	Alfalfa Supremi	52	21.573		\$9,384.26
TCNU6776790	A1513015	Alfalfa Supremi	52	20.666	-	\$8,989.71
TEMU6061890	A1513205	Alfalfa Supremi	52	21.500		\$9,352.50
TEMU6380855	A1513202	Alfalfa Supremi	52	20.675		\$8,993.63
TGBU6207346	A1513206	Alfalfa Supremi	52	20.575		\$8,950.13
TGBU6609875	A1515310	Alfalfa Supremi	52	21.827		\$9,494.75
TGBU6615800	A1515307	Alfalfa Supremi	52	21.364		\$9,293.34
TLLU4057090	A1515408	Alfalfa Supremi	52	21.591		\$9,392.09
TLLU8661852	A1515402	Alfalfa Supremi	52	21.328		\$9,277.68
TRHU5639605	A1513001	Alfalfa Supremi	52	20.71		\$9,009.28
TRHU8371521	A1515256	Alfalfa Supremi	52	20.738		\$9,021.03
TXGU5702230	A1515359	Alfalfa Supremi	52	21.237		\$9,238.09
Total Value:			1,560	635.041		\$276,242.83
Deposit (\$150/MT):						\$95,256.15
Downpay Payment:						\$180,986.68
Remaining Balance:						\$.00

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.



PACKING: FIT FOR OSEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

2024

By Healthy Green Life Corporation





